FEA13

T 3 4 . P EKEMARETLE
B\ 4 . KRR ¢ 100mm L= 44.3 m
i JRES BE | B FER: AL EE | Bz 5 &
ARBE GNGWDAX (WEETDAX) 13.6 e 35,120 | m 31.8 | m | EES
DCIP (GX) ¢ 100 3 K
o HEE 3 6.800 m 6.8 | m |uiwrinmss
) g & 3.600  m 56 o |VEEE i
N N e 1 L& 42.2 | m
4%Tsc& ® 100%100 T 0.470 | m m
*“Ti K) & 100%100 & 0.710 | m m
FRTE & 100%75 & 0.440 | m m
H%Hﬁ%’? ¢ 100%90° ] 0. 479 m m
® 100%45° 3 A 0.416 | m 1.248 | m
6 100%22° 1/2 & 0.380 | m m
6 100%11° 1/4 & 0.360 | m m
¢ 100%5° 5/8 /[E5] 0. 360 m m
iz 4% ® 100%45° 1 A 0.156 | m 0.156 | m
6 100%22° 1/2 & 0.120 | m m
AR L ® 100%75 1H 0.410 | m m
Lz ks & 100%75 & 0.410 | m m
a2 A ¢ 100 & 0.020 | m m
LT ¢ 100 H300 & 0.866 @ m m
6 100 H450 [E 1.037 | m m
Hh e A5t 4 AT HIpEIER 1.404  m
[E ® 100 2 0.200 | m 0.400 | m |yl~1iE
Hkim (K) ¢ 100 ] 0. 300 m m
IR 6100 10K N 0.080 | m m
7T VA LSP ¢ 100 10K B
745 SHLHAZAED 3 A 0.029 | m 0.087 | m |(A-Y)~HE
P-Link ® 100 4 0.180 | m m
i (GX) 6100 & Wb - Fyb - 2" ARG T 3 4
G-Link ¢ 100 8 #i FEEIFR A T
(NI VTN L H 0.490 | m m
)7 by 1 % 0.180 | m 0.180 | m |{KE%iEsE T
N a2 DCIP ¢ 100 10K 1 SedThE L
B 5p 2 i MTE2%5 ¢ 350 H1200/H 1 A Wr/kBH
52K M35 ¢ 500 H1200H 1
EHRT — & 50mm 26.4 m £4+T-1.7(E)m
WREFR—  1E400mm 26.4] m 4+T-1.7(E) m
R~ —— 8 {#
T OMAE 27 » i Z DIt R 0.667  m
JiE TIE R 44.271 m
EX D FRES BB sk iER | HAL S
gk T BELITHEELS 2.2 + 1.404 43.6 m |X%GXAizZL=11.8m
Bk Bk TV X — AR 6 »FT
TNy A — BERE 7 At
GXiffkF L XS 3 FET|FYIY 3K
HE&H P-Link Vbl
FLIZE R 3 » AT
BV G-Link 8 4 i
77V UMEL Pt
Yk T 1
HERE T M7%25 ¢ 350 H1200/1 L 7P
M35 ¢ 500 H1200H 1 » At
Wi AN V7 T DCIP ¢ 100 10K 1 »fr
or=54v) MY E L 26.4 m |A+I-1.7®m
BHRT—7 L W=50mm 26.4] m |[#tT-1.7Gm
IR — ML W=400mm 26.4 m |£+TL-1.7®m
HYUTF LAY —T BT 264 m |&tT-1.7Em
k*EI 0.5/ H
%{&
ukuit%ﬁi FA7K HLAN B 0.09 H [44.271/500
KERR L =7 — 0. 3Mpa X 60min 1 K
Ho /NS SR A T RCL — %' — 6 m2 [ HREEE




T4 KA O T

R X URANEERE (GXIE)

mEES
XS

mm

m/ A

FE SRS B DA O

=F)

YR IER

HG)E
1

ZUVE

e

3.20

0.80

2.20

1.00

0.80

1.40

1.00

0.80

0.80

NeREooRE-NRNeorRNG) RS RICRE RN

J—
o

[y
—_

—
N}

—
w

,_
W

—
ol

J—
(o))

—
-3

—
o

—_
©

[N}
S

\}
—_

[\l
[\

(\]
w

[\")
NG

\]
ol

[N}
[op}

\)
-

[\]
co

N}
©

w
o

i

6.80

3.60

1.60

Y%K

(EDRETENCR

T Pk




AR E AR T AR S
CE N
% S R S S 2 # 2 Wl ow & L)
T.EE4ERE GNGWDAX, WEETDAX-13.6 W100 L=35. Im
[E+/]
21. 84 = 21. 84 22
R I AT 280 P |GNGWDAX13. 6 W100 m
9.95 = 9.95 10
773 ASNEEPERY  |WEETDAX13. 6 W100 m
S—-MWX-MW-D 2 = 2 2
i AT WEETDAX W100 X DCTP (GX) #H
EEVry byl ) iR 4 = 4 4
AT GF GF W100 ii!
EFYry b, o b AV Mo 2 = 2 2
AT WF WF W100 ii!
2FfHERE = LR 2 = 2 2
45° T )LARHEFEA  [GL W100 ii!
EFTVK™ | oy b AV Mo 4 = 4 4
45° T )LRHEFEB (WL w100 ii!
SPATEEF-2" . RiIE 1 = 1 1
Uk GT W100 X W75 L
1 = 1 1
R 2R ZELS MAV-N50 pre
[&47]
10 = 10 10
R E SUS304, ZEA UM pael
2 = 2 2
12 B3 1E At SUS304, 7/h—& e #H
1 = 1 1
[ d5[H 1k 4 B SUS304, TV/h—& i #H




21. 84 21. 84 22

B T GNGWDAX-13. 6 W100 m
...... 9. 95 9' 95...... 10

SRR T WEETDAX-13. 6 W100 m
TR 2 9 )

U AT T S-MWX-DEf+ &
ny) ) iR 4 4 4

UM T GF GF W100 T
T AV MR 2 2 5

UMK T WE GF W100 P
T3y gt 2 B 5

45° T LARMETFAT [GL w100 (3
EFfls ., ok 4 1 1

45° T )LARMETFBT. [GL W100 (3
73y B, PRIE 1 1 1

Sy ISz T T GT W100 B
1 1 1

AN 22 R S BT T [MAV-N50 i
10 10 10

T R T i
2 2 2

2B 1A B T [E0I0
1 1 1

[BI#ERA 1k 4 B U T [E00
1 1 1

Fe AR 2




R K AR T

L 13 N
KB TREAE 2]
o
Kk oy hiEUN
fE O % s | agk 1 HEE] 3 4 5 6 7 8 9 1 2 3 i %
$25| 40
oy PR3k [ ¢100 X 20 | fA
g n $100 X 25 | »
# " $100 X 30 | »
n $100 X 40 | » 1 1
n $100 X 50 | »
AR —T | ¢ 20 "
I $ 25 "
I ¢ 30 n
n ¢ 40 " 1 1
I ¢ 50 n
B PEP $13 m
I 20 n
n $25 » | 8.0 8.0
I ¢ 30 n
n ¢ 40 n | 5.2 5.2
I ¢ 50 n
HIVP ¢ 13 S Am/ AR A5
n ¢ 16 n n
n ¢ 25 n n
PEAkT: A—2—H ¢ 13 [
I 20 n
I ¢ 25 n
I ¢ 30 n
n ¢ 40 " 1 1
I ¢ 50 n
AN $ 20 "
I $ 25 " 2 2
n ¢ 30 n
LR ¢ 20 "
I $ 25 n
I 40 " 2 2
EH (FR) | 913 "
I 20 n
I $ 25 " 2 2
[BliEA R ¢ 30 "
I b 40 " 2 2
n ¢ 50 n
S (AR) ¢ 20 "
I ¢ 25 n
TSHETF HIY /7 vb ¢ 13 &l
I ¢ 16 n
I 20 n
I $ 25 n
I ¢ 30 n
I ¢ 50 n
HISEY 7ok | 16 X 13 |
" $20 X 13 "
" $20 X 16 "
HIF—X ¢ 16 "
I 20 n
I $ 25 n
HIRZRF—Z | $20 X 16 "
) $25 X 20 I
SKXHET  [SKX(PP*GP) $ 25 I
n ¢ 30 n
I 40 n
I ¢ 50 n
SKXSA TR ¢ 25 "
I b 40 "
ST e EAkAR |me A e kR | ¢ 30 [E]
n ¢ 40 " 1 1
I ¢ 50 n
PR =7 b 20 "
I $ 25 " 1 1
A=A—1kK $ 20 "
" $20 X 13 "
n $25 X 20
) $25 X )
HARF vk ¢ 13 [
$ 20 n
b 25 n
¢ 50 n
TURLTARET 613 X 500 [ A
$20 X 500 | »
$25 X 500 | »
ES HHEA—2—J ] ¢13-20 [
sV A—%— ] | 6 13-20 "
I ¢ 25 n
1B Y 72 |VOS I 1 1
Wk~ —— & 1 1
s Ry —H [W=400 m | 80| 8.0
EIHRT—7 [W=50 m | 80| 8.0




R K AR T

L 13 N
K I TR A %)
Kk oy hiEUN
W om 0o %&%ﬁ(bl%fikﬁa 4 5 6 7 8 9 1 2 3 W=
5 (KA [RVE R $100 X 20 [~7F
» n $100 X 25 | »
[ $100 X 30 | »
[ 100 X 40 | » 1 1
[ $100 X 50 [ »
Ehigk T |PEP ¢ 13 m
i b 20 "
n 625 n | 8.0 8.0
n $ 30 n
n ¢ 40 n | 5.2 5.2
n $ 50 n
HIVP ¢ 13 "
i b 16 "
i b 20 "
i b 25 "
P T PEAET $13 5
n b 20 n
n ¢25 n 6 6
n $ 30 n
n ¢ 40 [ 7 7
n $ 50 n
TSHET: ®13 T
i b 16 "
i $ 20 "
i b 25 "
n $ 30 n
i b 40 "
n $ 50 n
AT T $13 "
i b 20 "
i b 25 "
n $ 30 n
i b 40 "
n $ 50 n
IR ER A $ 20 it
625 [ 1 1
¢ 30 n
¢ 40 [ 1 1
¢ 50 n
KWRET [RWRfT  |VOS Pasii 1
FnfE L VOS ”
KRGS T ¢ 13 >t
¢ 20 "
¢ 25 n
+TE AT m [11.5] 6.3] 5.2
+ LWriEE m | 1.7 1.7
m
m
m
0= A m [13.2] 8.0/ 5.2 WLk
e F[W=400 m | 8.0] 8.0
R —7 [W=50 m | 8.0] 8.0




= =
B KB T (No, )
ARERAE T
¢ 100
K i A | MR | A
+ T
Astlr
t=15cmPL T [PRBIMKE S L TR R I B 41.6 41.6 42|m
AsEliFEREL
t=10cmPL T |PRBIMKIE S L TR I 117 11.7 12[m2
AsHLIEH
SRR IS - TR R B/ 0.7 0.7 1{m3
A
BHO0.28 SRR ME IS - TR R B 15.1 15.1 15[m3
MR (HD)
BHO0.28 XRIMKME I L TR IS 6 6.0 6[m3
MR (A
BHO0.28 SRR IS - TR R ) B 8.3 8.3 8|m3
MEREEGEAET)
BHO0.28 SRR + TAEF R I B - - -[m3
T g 1 5(RC-40)
t=200 SRR IS L TR R B 2.3 2.3 2|m2
|- A (M-25)
t=100 SRR IS - TR R B 2.3 2.3 2|m2
FEAE AL
MBI I+ THEFHE B 15,1 15.1 15|m3
K
MBI I+ THEFHE B 15,1 15.1 15|m3
AsEh%E T(RE 1H)
FAEREAs13 =3em | SXCBIRR E IS £ TR 1B 8.5 8.5 9|m2
EN S
WM EEL  PRBRTE IS - THR R B 3.24 3.2 3|m2
AstEl%E TR 1H)
A EAs20F hem| SBIRE B I+ TR R ) B 3.24 3.2 3|m2
MAsHLAL B
MBI I - TR B 1.735 1.7 2|t
LR T —MiRiE 1[E
S Bl w1.8%L18.5 22.2 22.2{m2
ZWFHEER |EUERRE) B 4k H * A A




BT B
THE ) e HE Hat | WAL
+TA +TB +T.C +TD +TF

AsHIlr t=15cmLL T 5.0 10.8 12.6 - 13.2 41.6|m
AsEREERRIBUEL  [t=10cmEL T 1.5 3.2 3.8 - 3.2 11.7|m2
AsHEE 0.1 0.2 0.2 - 0.2 0.7|m3
el BHO.28 2.1 2.8 3.3 3.7 3.2 15.1|m3
HE(Wh) BH0.28 0.6 1.3 1.5 1.6 1.0 6.0/m3
PR (R AEMA)  [BHO.28 1.5 1.5 1.8 2.0 1.5 8.3|m3
HRGEAT) BHO.28 - - - - - -|m3

TT | FERE(RC-40) [t=200 - - - - 2.3 2.3|m2
A (M-25)  |t=100 - - - - 2.3 2.3|m2
S ¥ st nt UB 2.1 2.8 3.3 3.7 3.2 15.1|m3
st 2.1 2.8 3.3 3.7 3.2 15.1|m3
AsERE TURAEIR)  [FFAEERLEAS]3 t=3cm 1.5 3.2 3.8 - - 8.5(m2
A E i A HEL - - - - 3.2 3.2|m2
AstiZE TORIEIR) | P4 As20F t=5cm - - - - 3.2 3.2{m2
MAsHAL Ty By 0.2 0.5 0.5 - 0.5 17|t

L)



DCIP (GX) (No, )
¢ 100 +TA L= 2.5 m
f_mf”) # A fE WA
+ T
AsHlir
t=15cmPA F  |#EHI (2.5+2.5) 5.0 m
AsEEERRITUEL
t=10cmLA F  |#EHI (0.6%2.5) 1.5 m2
AsHiLiERK
BER% (0.6%2.5%0.05) 0.1 m3
P HI
BH0.28 0.6%1.37%2.5 2.1 m3
PR (W)
BH0.28 (0.6%0.42 — 0.12°2%3.14/4) * 2.5 0.6 m3
HR(EAERA)
BH0.28 0.6%0.97%2.5 1.5 m3
T & A (RC-40)
- - m2
g AR (M-25)
- - m2
FEAE AL
2.1 2.1 m3
HEHh
2.1 2.1 m3
AsEli%E T(R 1 1H)
B RLEAs13 t=3cm|0.6%2.5 1.5 m2
ARpEFEIE
LA L - _ m2
AsEli%E TORE 1H)
FEBRTIE As20F t=4cm|— - m2
AsBRAL
0.1%2.35 0.2 t




DCIP (GX) (No, )
¢ 100 +TB L= 54 m
f_mf”) # A fE WA
+ T
AsHlr
t=15cmPA F  |HEHI(5.4+5.4) 10.8 m
AsEEERRITUEL
t=10cmLA F  |#EH] (0.6%5.4) 3.2 m2
AsHiLiERK
BER% (0.6%5.4%0.05) 0.2 m3
P HI
BH0.28 0.6%0.87%5.4 2.8 m3
PR (W)
BH0.28 (0.6%0.42 — 0.12°2%3.14/4) * 5.4 1.3 m3
HR(EAERA)
BH0.28 0.6%0.47%5.4 1.5 m3
T & A (RC-40)
=200 - - m2
g AR (M-25)
t=100(120) |- - m2
FEAE AL
2.8 2.8 m3
HEHh
2.8 2.8 m3
AsEli%E T(R 1 1H)
B RLEAs13 t=3cm|0.6%5.4 3.2 m2
ARpEFEIE
LA L - _ m2
AsEli%E TORE 1H)
FAEBRTE As20F t=5cm|— - m2
AsBRAL
0.2%2.35 0.5 t




GNG WDAX-13.6 (No, )
¢ 100 +TcC L= 6.3 m
f_mf”) # A fE WA
+ T
AsHlr
t=15cmPA F  |#EHI(6.3.+6.3) 12.6 m
AsEEERRITUEL
t=10cmLA F  |#EH (0.6%6.3) 3.8 m2
AsHiLiERK
BER% (0.6%6.3%0.05) 0.2 m3
P HI
BH0.28 0.6%0.88%6.3 3.3 m3
PR (W)
BH0.28 (0.6%0.43 — 0.13°2%3.14/4) * 6.3 1.5 m3
HR(EAERA)
BH0.28 0.6%0.47%6.3 1.8 m3
T & A (RC-40)
=200 - - m3
g AR (M-25)
t=100 - - m2
FEAE AL
3.3 3.3 m3
HEHh
3.3 3.3 m3
AsEli%E T(R 1 1H)
B RLEAs13 t=3cm|0.6%6.3 3.8 m2
ARpEFEIE
LA L - _ m2
AsEli%E TORE 1H)
FEBRTIE As20F t=4cm|— - m2
AsBRAL
0.2%2.35 0.5 t




GNG WDAX-13.6 (No, )
¢ 100 +TD L= 6.7 m
A 5 A | mo® |
+ T
Astlr
t=15cmPA |- - m
AsEZEERRUTUEL
t=10cmA |- - m2
AsHiL
- - m3
]l
BHO0.28 0.6%0.93%6.7 3.7 m3
PR (W)
BHO0.28 (0.6%0.43 - 0.1372%3.14/4) * 6.7 1.6 m3
PR (B AE )
BHO0.28 0.6%0.5%6.7 2.0 m3
T & 1% (RC-40)
=200 - - m3
FJE kAR (M-25)
t=100 - - m2
A AL
3.7 3.7 m3
e
3.7 3.7 m3
AsEizE T.(RIE IH)
FREHERIEEAST3 t=3cm|— B m2
RN
shbtml | - -
AsEii#E T.(R1EH)
AR As20F t=4cm|— - m2
SKAsHLALS > E
_ - t




BOE R E B SNE T

N

BER% =DCIP(T) (No, )
¢ 100 TTF Rk L7 R E L= 1.5 m
(iﬁ_FNE”) 7 5 A fE i
+ T
AsHlir
t=15cmPL T [$HEN(1.5+1.5+1.5+1.5)+ A7 [H(1.8+1.8+1.8+1.8) 13.2 m
AsEEERRITUEL
t=10cmPL T |BER% (1.8%1.8) 3.2 m2
AsHiLiERK
BER% (1.8%1.8%0.05) 0.2 m3
P HI
BHO0.28 1.5%1.42%1.5 3.2 m3
PR (W)
BHO0.28 (1.5%0.47 — 0.127°2%3.14/4) * 1.5 1.0 m3
MR (BB ReA)
BHO0.28 1.5%0.65%1.5 1.5 m3
T & A (RC-40)
=200 1.5%1.5 2.3 m2
g AR (M-25)
t=100 1.5%1.5 2.3 m2
FEAE AL
3.2 3.2 m3
HEHh
3.2 3.2 m3
AsEiEE TRE H)
FREHERIEEAST3 t=3cm|— B m2
NS
SR L 1.8%1.8 3.2 m2
AsEitE TR H)
BRI As20F t=5em| 1.8%1.8 3.2 m2
AsBRAL
0.2%2.35 0.5 t




(No, )
Fa K AE (20H)
¢ 25 +TE L= 1.7 m
N it e | om B | wm
+ T
4] e [ B A7 3R X ) 23 R
As YT
t=15ecmPL T |- - m
AsEFERRITIEL
t=10cmLLF |- - m2
AsHREH
- - m3
HRHI
BHO0.13 0.6%0.86%1.7 0.9 1|m3
MR D)
BHO0.13 0.6%0.36%1.7 0.4 0.4|m3
H5E(RC-40)
BHO0.13 0.6%0.5%1.7 0.5 1|m2
A LB
0.9 0.9 1|m3
2
0.9 0.9 1|m3




kg3

T 4 PSRBT L
BB 4 IREEARE AR L= 92.5 m
G4y FkE Sem | B ER | BAL| ARXIEE | HAL i =
RS GNGWEETDAX-13.6 ¢ 75 1 A [ 31.500  m 28.600 | m [FEAMECERA
L& OVERE 100A . 0.800 | m 0.800 | m |evomp e
S0A 1 63.500 | m 62.900 | m AR A
A EAE Lo B OVERE T BLE 1] X JIRS 92.300 | m
=R ® 100%100 5] 0.470 | m m
T (K) & 100%100 I 0.710 | m m
FRTFAE & 100%75 I 0.440 | m m
Pz ihas & 100%90° I 0.479 | m m
& 100%45° I 0.416 | m m
® 100%22° 1/2 I 0.380 | m m
6 100%11° 1/4 I 0.360 | m m
& 100%5° 5/8 I 0.360 | m m
AL & 100%45° I 0.156 | m m
$ 100%22° 1/2 I 0.120 | m m
ZHE L & 100%75 I8 0.410 | m m
Lz e & 100%75 I 0.410 | m m
2 ¢ 100 I 0.020 | m m
T 6 100 H300 I 0.866 | m m
¢ 100 H450 I 1.037 | m m
4 A5t rAE | BIEEREE m
Ak ® 100 ] 0.200 | m m|yl-1y%
Ak (K) ¢ 100 I 0.300 | m m
1R (GX) 100 10K 2 K 0.080 | m 0.160 | m
7T U VBEAM LSP 6 100 10K 2 &
745 THUAIZ LS i 0.029 | m m | (A-Y) ~FiE
P-Link ¢ 100 4 0.180 | m m
5 (GX) 6100 & Wb Fyb « 3 MEE T il
G-Link ¢ 100 L
817 A % A I 0.490 | m m
AN L R 0. 180 m m
)R MJE3 5 ¢ 500 H1200/ #H
=7 —sNy 7 1k7K  DCIP ¢ 100 3 & Bd2 i1
AN = LiE K) ¢ 100 2 1A KooK&
G ARG (K) ¢ 100 2 1A Bk &
BHRT—7 I 50mm m
HEREFR L —  |IR400mn m
kB~ = — &
Z DA E 11 #Fr | ZoMitE 0.160 | m
Jiti T3 92.460 m
SR A HE MR | HAL i =
Tk L Lo A VR B 92.3| m |%&KFEEE
BERRE Ul T DCIP ¢ 100 TNy H— AiEE i
TV H— R 4 T
BERR B E T DCIP ¢ 100 8 m
GXiflE T T ERERL Yabii
E A% P-Link Vil
B AR Yabii
HIEEES G-Link 2 T MR = ARG
AH=JIHEFT | (K) ¢ 100 2 PIT | Rk TR
T — N 7 T DCIP ¢ 100 3 » Pt
w54 A% E L m
R — 7T W=50mm m
THRY— ML W=400mm m
RV ZF LAY =TT m
o T 0.5 H
Ham ke Hotr s B
KRR T Fo 7K BT 0.18 H ]92.46/500
S AR T =7 — 0.3MpaxX60min 1
Bl ER A
Vo2 OVEIEERE 4t 2B1EE 1 =X
RS S L 18 2.1t |EEkiR
FEIA - Bl LU 1118 2.1t |EEkiR




P KA R T TN LTS P e e
% & @ n &
4 wm %k o+ 2t 5 2 ol % & L
TEHIEE  WEETDAX-13.6 W75 L=31.5m (PEETEI AR L=22. Tn)
[&E#]
V2R N A A 28.6 = 28.6 29
RY)oF L& WEETDAX-13.6 W75 m
MWV Avaifg 2 = 2 2
Vi Rk T WEETDAX-13. 6 W75 X SUS80A FH
iy b AV M AR 4 = 4 4
90° Hh KT WL W75 H
[&#1]
4 = 4 4
FRpA EA SS400 & I ¥R i
2 = 2 2
F R4 BB SS400 & I ¥R i
23 = 23 23
FEBRN T — SS400 & 1 ERAE i
ERUA ¥ — AN /N =7 7T 1 = 1 1
VL AZ Y 2—¢14|ST1570 ¢ 9 =
2 = 2 2
AT SS400 & 1 ERAE i




e T Ao MEf RFEREZE =X
B 5 28. 6 = 28.60 29

B T WEETDAX-13. 6 W75 m
HUAE « oy A 58 2 = 9 5

Ui AKE T L WF W75 P
ER@lA5 « Ky v Misd 4 — 1 1

i T T WL W75 5
4 = 4 4

4 BARUS T i T
2 = 2 2

FHi 4 BBEUS T i T
23 = 23 23

SA TN AU T .
22.5 = 22.50 23

ERUA Y —Hf T m
45 = 45.00 45

RRVEH T A v — T m
22.5 = 22.50 23

BME¥ T A v —T m
2 = 2 2

YXL 27 Y 2—Bf T (&3
2 = 2 2

VXL ALY 2 —FET & T
2 = 2 2

AR T 5
1 = 1 1

BEAREEE 1 B R 2+
1 = 1 1

PR IRELE 2 U4 /F - Fk- v R "
365H., 4 4 = 4 4

W E SR 22X 1219 X 2438 K-
1.219 X 2.438 X 4 B = 11.888 12

ARG E T BRI o
1 = 1 1

10t774-)v-v &kt 4 (2 B =
1 = 1 1

10t774-)v—v[al e E 2




% & @ m &
P Bo|® %+ i 5 % Wi fir B g
THEE A7/ VASASHES80A L=63.5m, 100A L=0.8m
B

[&#r] vz [80a

LN L% LA %360 A 3 (@4.000 =32.000) = 3 8
AT v L AR [GB0AX 4. 0 &

L VE L > &L H 5360 H 7 (@2.000 =14.000) = 7 7
AT v L AR [GB0AX 2.0 &

LBV Lo 4L H%360 A 4 (@1.000 =4.000) = 4 4
AT v L AP [GBOAX 1. 0 &

LBV Lo 4L H%360 A 4 (@0. 500 =2.000) = 4 4
AT v L AR [GB0AX 0. 5 &

LB VE Lo 4L H%360 A 2 (@0. 300 =0. 600) = 2 2
AT v L AR [6GB0AX 0. 3 &

LBV Lo 4L H%360 A 6 (@1.000 =6.000) = 6 6
7 UXE BT G8OAX 1.0 &

LBV Lo 4L H%360 A 10 (@0. 282 =2. 820) = 10 10
90° /LR G80A

LBV Lo 4L H%360 A 2 (@0. 252 =0.504) = 2 2
LA G8OA X 0. 25 I

\//&/wﬁ Lo %L H%360 A 2 (@0. 400 =0. 800) = 2 2
Hefoe L G8OA 7 vav} 12l

\//&/wﬁ Lo 4L H%360 A 4 (@0.016 =0. 064) = 4 4
el s g G8OA UXU e

LBV Lo 4L H%360 A 1 (@0. 150 =0. 150) = 1 1
B Ui G80A X 25A

LBV Lo %L H%360 A 2 (@0.269 =0.538) = 2 2
AR— LT B [6G80A

80A JEEAt  63.476

[&#r] vz [100A =

\/y&/wt Lo 4L H%360 A 2 (@0.016 =0.032) = 2 2
i G100A UXU "

\//&/wﬁ Lo 4L H%360 A 2 (@0.216 =0.432) = 2 2
LYo —H— G100A X 80A 2l

\/y&w% Lo 4L H%360 A 2 (@0. 160 =0. 320) = 2 2
Pl mEH 100A SXF 1

100A %E &Gt

0. 784
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0. 784 = 0.784 0.8
SRR T [100A m

63.476 — 0.538 = 62.938 62.9
ANORREREATRE T |80A m

4 = 4 4
REPCS-GHUAkFT.  [100A 5]

8 7 4 4 2 6 10 2 8 1 = 52 52
REPCS-GHUAkFT.  |80A 5]

2 = 2 2
HEFfpaRE T 80A =

2 = 2 2
77y #EFT.(10K)  [100A [
[#E9%]

0. 784 = 0.784 0.8
AN ORFE R T |100A m B X 0.5
63. 48 — 0.538 = 62.938 62.9

ANOBSE ST |80A m FE X 0.5

4 = 4 4
REPCS-GHUik F-Hust 1. [ 100A Il AR X 0.5

8 7 4 4 2 6 10 2 8 1 = 52 52
REPCS-GUik F-Hust T |80A Il AR X 0.5

2 = 2 2
e T 80A ¥

2 = 2 2
777y fEFHAL T (10K) | 100A ]

2 = 2 2
GXAEF IS T.(10K) [100 0
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B KB T (No, )
R AE R E - 1
$ 100,75
(f~FN f”) 5 s | % om | ow
+ T
Astlr
t=15cmPL T |PRBIMKE S - TAEF R IS 23.8 23.8 24|m
AsEliFEREL
t=10cmPL T |PXRBIMKIE S - TR R IS 8.74 8.7 9|m2
AsHLIEH
SRR IS - TR R B/ 0.5 0.5 1{m3
A
BHO0.28 AR TE IR L TR IS 12,5 12.5 13[m3
A
N7 SRR I - TR R B/ 0.6 0.6 1{m3
MR (HD)
BHO0.28 SRR IS - TR R ) B 5.8 5.8 6[m3
MR (A )
BHO0.28 SRR IS - TR R ) B 4.5 4.5 5[m3
BLE (RS 1)
BHO0.28 R I T TAEF R IS 2 2.0 2|m3
T g #5(RC-40)
t=200 R #E + TAEF R I B - - —[m2
|- A (M-25)
t=100 SRR IS - TR R B 1.5 1.5 2|m2
FEAE AL
MBI I - TR IS 10.9 10.9 11|m3
K
MBI I+ TR IS 109 10.9 11|m3
AsEh%E T(RE 1H)
FAEREAs13 =3om | XCBIRR ME IS £ TR B 7.2 7.2 7|m2
AsEh%E T (R 1H)
WA As20 t=dem| S BIHRTE K L THEFER IS 1.5 1.5 2|m2
EN S
HEHEEL PR T TR RIS - - -|lm2
FRE T (—%)
BEAT - SRR R BIAR TE IE - TARRHR 1 B R/ 10.88 10.9 11|m2
LI —MTHRT
18-8-40BB  |3RBIARIE K L TR I 5 4.48 4.5 5|m3
MAsHLAL Y B
MBI - THEFHE I 117 1.2 1|t
ZWFHEER |HEUERRE) B 4k H * A A




BHLT AR R
THE ) e = : Hat | WAL
+T1-1 +T2-1 +T3-1 +T4-1  (EiE A 1T

AsTIir t=15emLL T 8.0 10.8 5.0 - - 23.8|m

AsEREERRIBUEL  [t=10cmEL T 4.0 3.2 1.5 - - 8.7(m2
AsHELIEH 0.2 0.2 0.1 - - 0.5{m3
el BHO.28 5.5 1.4 0.7 4.9 - 12.5|m3
YNE - - - - 0.6 0.6{m3
R (D) BHO.28 1.6 0.9 0.5 2.8 - 5.8{m3
MR (FAMA)  |BHO.28 3.9 0.6 - - - 4.5(m3
HRGEAT) BHO.28 - - - 2.0 - 2.0|m3
T @ A (RC-40) |t=200 - - - - - -|m2

+T

A (M-25)  |t=100 - - 1.5 - - 1.5|m2
P e 5.5 1.4 0.7 2.7 0.6 10.9|m3
HHh 5.5 1.4 0.7 2.7 0.6 10.9|m3
AsERE TURAEIR)  [FFAEERLEAS]3 t=3cm 4.0 3.2 - - - 7.2|m2
AstiZE TURIEIR) | FBAERLEEAS20 t=4cm - - 1.5 - - 1.5|m2
Nz A L - - - - - ~|m2
TR T (— %) PR - A E - - - - 10.9 10.9|m2
2 ))—MTRR T 18-8-40BB - - - - 4.5 4.5|m3
MAsHLAL Ty By 0.5 0.5 0.2 - - 1.2t

L)



B A AT R T

Re

DCIP (T),#i & 100A (No, )
¢ 100F% & +T1-1 L= 4.0 m
f_mf”) # A fE WA
+ T
AsHlir
t=15cmPA F  |#EH] (4.0+4.0) 8.0 m
AsEEERRITUEL
t=10cmLA F  |HEHI (1.0%4.0) 4.0 m2
AsHiLiERK
BER% (1.0%4.0%0.05) 0.2 m3
P HI
BHO0.28 1.0%1.37%4 5.5 m3
PR (W)
BHO0.28 (1.0%0.42 — 0.1272%3.14/4%2) * 4 1.6 m3
HR(EAERA)
BHO0.28 1.0%0.97%4 3.9 m3
T & A (RC-40)
- - m2
g AR (M-25)
- - m2
FEAE AL
5.5 5.5 m3
HEHh
5.5 5.5 m3
AsEiEE TRE H)
BRI As13 t=3cm| 1.0%4 4.0 m2
NS
LA L - _ m2
AsEitE TR H)
FEBRTIE As20F t=4cm|— - m2
AsBRAL
0.2%2.35 0.5 t




& S0A (No, )
SOAFX & +T2-1 L= 54 m
f_mf”) # A fE WA

+ T

AsHlr
t=15cmPA F  |HEHI(5.4+5.4) 10.8 m

AsEEERRITUEL
t=10cmLA F  |#EH] (0.6%5.4) 3.2 m2

AsHiLiERK

BER% (0.6%5.4%0.05) 0.2 m3

P HI

BH0.28 0.6%0.44%5.4 1.4 m3

PR (W)

BH0.28 (0.6%0.29 — 0.09°2%3.14/4) * 5.4 0.9 m3

HR(EAERA)

BH0.28 0.6%0.17%5.4 0.6 m3

T & A (RC-40)

=200 - - m2

g AR (M-25)
t=100(120) |- - m2

FEAE AL

1.4 1.4 m3

HEHh

1.4 1.4 m3

AsEli%E T(R 1 1H)

B RLEAs13 t=3cm|0.6%5.4 3.2 m2

ARpEFEIE

LA L - _ m2

AsEli%E TORE 1H)

FAEBRTE As20F t=5cm|— - m2

AsBRAL

0.2%2.35 0.5 t




& S0A (No, )
SOAFX & +T3-1 L= 2.5 m
f_mf”) # A fE WA

+ T

AsHlr
t=15cmPA F  |#EHI(2.5+2.5) 5.0 m

AsEEERRITUEL
t=10cmPA F  |#EH] (0.6%2.5) 1.5 m2

AsHiLiERK

BER% (0.6%2.5%0.04) 0.1 m3

P HI

BH0.28 0.6%0.45%2.5 0.7 m3

PR (W)

BH0.28 (0.6%0.35 — 0.09°2%3.14/4) * 2.5 0.5 m3

HR(EAERA)

BH0.28 - - m3

T & A (RC-40)

=200 - - m2
g AR (M-25)
t=100 0.6%2.5 1.5 m2
FEAE AL
0.7 0.7 m3
HEHh
0.7 0.7 m3

AsEli%E T(R 1 1H)

AR As20 t=4cm|0.6%2.5 1.5 m2

ARpEFEIE

LA L - _ m2

AsEli%E TORE 1H)

FAEBRTE As20F t=5cm|— - m2

AsBRAL

0.1%2.35 0.2 t




& S0A (No, )
SOAFX & +T4-1 L= 16.6 m
A 5 A | mo® |

+ T

AsHlir
t=15cmPL | |- - m

AsEEERRITUEL
t=10cmPL | |- - m2

AsHiLiERK

- - m3

I

BHO0.28 0.6%0.49%16.6 4.9 m3

PR (W)

BHO0.28 (0.6%0.29 — 0.09°2%3.14/4) * 16.6 2.8 m3

HRGEA 1)

BHO0.28 0.6%0.2%16.6 2.0 m3

T & A (RC-40)

=200 - - m3
g AR (M-25)
t=100 - - m2
A PR
4.9-(2.0/0.9) 2.7 m3
HEHh
4.9-(2.0/0.9) 2.7 m3

AstfizE TRIEIR)

FREHERIEEAST3 t=3cm|— B m2

RN

LA L - _ m2

AstfizE TOREIH)

FEBRTIE As20F t=4cm|— - m2

AsBRAL

_ - t
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B A AT R T
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ERAG R E IR Co L - L L= m
f_mf”) 5 A | % R |
+ T
Astlr
t=15cmPL | |- . .
AsEEERRITUEL
t=10cmPL | |- . 2
AsHiL
_ - m3
N FTHEHI
2.4%2.4%0.1 0.6 m3
PR (W)
BHO0.28 - - 03
HRGEA 1)
BHO0.28 - - 03
T & 1% (RC-40)
=200 - - 03
g (M-25)
t=100 - - 2
A PR
0.6 0.6 m3
HEHh
0.6 0.6 m3
AshlidE T.(IRIE IH)
FREHERIEEAST3 t=3cm|— B m2
R IE (f )
LA L - _ m2
TR T (— %)
S - 2 R [(((1.4%0.8)%2+((2.0%0.8)%2))%2) 10.9 >
a7 —hTeE T
18-8-40BB  |((1.4%2.0%0.8)*2) 45 3




R K AR T

kL 13 s
R TR LIRS 2]
o
#a7K 53 a7k
O O 0 - Y 2 3 4 5 6 7 8 9 1 2 3 5 &
a7k
¢ 25
oy FRAKkEE [ 9100 X 20 | fA
g n $100 X 25 | » 1 1
Ed [ $100 X 30 | »
[ $100 X 40 | »
[ $100 X 50 | »
AENVA)—T | $20 "
n ¢ 25 " 1 1
I ¢ 30 n
I b 40 n
n ¢ 50 n
B PEP ¢ 13 m
I 20 "
[ 625 n | 15| 1.5
I ¢ 30 n
I 40 n
n ¢ 50 n
HIVP ¢ 13 S Am/ AR A5
n ¢ 16 n n
n ¢ 25 n n
PEAETF A—2—H ¢ 13 [
I 20 "
n ¢ 25 " 1 1
I ¢ 30 n
LR ¢ 20 "
n ¢ 25 " 1 1
I ¢ 50 n
WEMCEA) | ¢13 "
I 20 "
I $ 25 "
[AldiA Ry ¢ 30 "
I 40 "
I ¢ 50 n
HEH(AA) | 620 "
I ¢ 25 n
HARFk ¢ 13 [
20 n
$ 25 n
¢ 50 n
TLF LT AT $13 X 500 [ &
$20 X 500 | »
$25 X 500 | »
ES HHiEA—2— [ ¢13-20 [
sV A—%— ] | 6 13-20 "
I $ 25 n
IEKARAR Y7 A [VOS "
Wk~ —— [
R —[W=400 m
B RT—7 [W=50 m




RERF K ERE T (WETE)

T FEAR -~k | BAL g S ez
PP® 25,13 Rk HkIE
A
() RV =F L% | ¢ 25 m 11.5 8.5 3
() RV =F L4 | ¢ 13 m 36 36.0
(5%) PEESR o | ¢ 25%13 1# 1 1
(%) PERETF — X | ¢ 25%13 1# 1 1
(fii%) PET /LR ¢ 25 1# 2 2
(%) Sl FA AL | ¢ 25 1# 2 2
(fi%) $%% Fl A22al | ¢ 25 & 1 1
(%) 7 —h 37 | ¢ 25 1# 1 1
(5 3%) PE /LR 613 15 2 2
FH

BIRMEET L
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L 13 N
BB TR ERE £
#EAK Sy ek
, o e I 2 3 4 5 6 7 8 9 1 2 3
M O LA R k| BETE i &
625 $25
95 |0 KA T | $ekAE $100 X 20 |47
» n 100 X 25 | » 1 1 a7 B 16
[ 6100 X 30 |
[ 6100 X 40 |
[ 6100 X 50 |
“fik L |PEP 613 m | 36.0] 36.0
I 20 n
[ 625 »|13.0[ 10.0] 3.0
n ¢ 30 n
I b 40 n
I ¢ 50 n
HIVP 613 [
I ¢ 16 "
I 20 "
I ¢ 25 "
WEFT PERET 613 5] 6 6
I ¢ 20 n
[ 625 [ 13 12 1
n ¢ 30 n
I 40 n
n ¢ 50 n
TSHEF ¢ 13 it
n ¢ 16 n
I 20 "
I ¢ 25 "
I ¢ 30 n
I 40 "
I ¢ 50 n
AT L 613 L
I 20 n
I $ 25 n 1 1
I ¢ 30 n
I 40 "
I ¢ 50 n
AR T[S V7 ] $ 20 it
625 [ 1 1
¢ 30 n
b 40 n
¢ 50 n
KPR EL [Fmlft T [VOs e
FmEL  |VOS I
KRGS T ¢ 13 it
20 n
¢ 25 n
+TE m
m
m
m
m
ul—742) I %— m Mk
R ~[W=400 m
B RT—7 [W=50 m
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## TIER WEETDAX-13. 6 W75  L=31.5m (PpECEIFA  BEAERIFE 1=22. Tm)
CEiP5)! AXE X 0. 3
L 28.6 28. 60 29
BHEL WEETDAX-13. 6 W75 -
2 2 2
s AT H Sk 1 &
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SR HARYL T & T
2 2 2
SFpA HBEUYL T & T
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FRUA YT m
2 2 2
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10t57-)v—v Eefl B4z [2 H 2
1 1 1
10t 7750 v=[a] % % A




% wlm o ow o+ 3 % % |l ® ® D%M’f:%m —
[fiz% 55 #%]

0. 784 = 0.784 0.8
SRR T [100A m

63.476 — 0.538 = 62.938 62.9
ANORREREATRE T |80A m

4 = 4 4
REPCS-GHUAkFT.  [100A 5]

8 7 4 4 2 6 10 2 8 1 = 52 52
REPCS-GHUAkFT.  |80A 5]

2 = 2 2
HEFfpaRE T 80A =

2 = 2 2
77y #EFT.(10K)  [100A [
[#E9%]

0. 784 = 0.784 0.8
AN ORFE R T |100A m B X 0.5
63. 48 — 0.538 = 62.938 62.9

ANOBSE ST |80A m FE X 0.5

4 = 4 4
REPCS-GHUik F-Hust 1. [ 100A Il AR X 0.5

8 7 4 4 2 6 10 2 8 1 = 52 52
REPCS-GUik F-Hust T |80A Il AR X 0.5

2 = 2 2
e T 80A ¥

2 = 2 2
777y fEFHAL T (10K) | 100A ]

2 = 2 2
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B KB T (No, )
EEAE M E T
¢ 100,75
(f~FN f”) 5 s | % om | ow
+ T
AsYlikr
t=15cmPL T |PRBIMKE S - TAEF R IS 23.8 23.8 24|m
AsEliFEREL
t=10cmPL T |PRBIMK B - TR IS 8.7 8.7 9|m2
AsHEIE M
SRR IS - TR R B 0.3 0.3 0.3|m3
Coff i I L
BERSCo bk [PRBIRTEF I - THEFHE I B 4.5 4.5 5|m3
CobLiEH
MBI I T TR I B 4.5 4.5 5|m3
Etel
BHO0.28 AR TE I L TAEHER I S 1.2 11.2 11|m3
PR (D)
BH0.28 MPIMC I+ TR R B 1.6 1.6 2|m3
BLE (RS 1)
BHO0.28 MRIMET I+ TR R B 10 10.0 10|m3
T g i (RC-40)
=200 MRIME I I+ THEFH R B - - -|m2
) A (M-25)
t=100 MPIME I+ THEFH R B 1.5 1.5 2|m2
J&/E A
SRR IS L TR R B 2.6 2.6 3|m3
e
SRR IS L TR R B 2.6 2.6 3|m3
AsEHEE T (18 17)
FAERHEAS13 =3em | S IFRTE IR L TARRIR IS 7.2 7.2 7|m2
AsEiEE T (18 17)
FARLRLIEAS20 t=dom | S BIRRE S = TR R S - - -|m2
N
ML PARIE R L THEFRIZH 1S 1.5 2|m2
Ashlidk TORE R)
FIARRIEA20F t=dem| SCBIHE M B - TAEFHR ) B 1.5 1.5 2|m2
SCASHRAL Y
SRR IS - TAEF R ) B/ 0.6 0.6 1|t
K CoBl LSy B
SRR TE IS L TAEFER I S 10.6 10.6 11t
RWFEED |EUERR B 4k H * A A




gL
BT ERE
TrE gl itk = Gt | B
+T1-2 +T2-2 +T3-2 +T4-2 (REE RN
AsY]Hr t=15cmLA T 8.0 10.8 5.0 - - 23.8|m
AskiZERBUEL  [t=10cmPLF 4.0 3.2 1.5 - - 8.7|m2
As L 0.1 0.1 0.1 - - 0.3|m3
Cotf ity HugEL - - - - 4.5 4.5|m3
CoBL i - - - - 4.5 4.5/m3
ezl BH0.28 5.6 1.2 0.5 3.9 - 11.2{m3
PR (1)) BH0.28 1.6 - - - - 1.6|m3
R4 T) BH0.28 3.9 1.2 0.4 3.9 0.6 10.0|m3
TR A% (RC-40) [t=200 - - - - - -[m2
+T
B AR (M-25)  |t=100 - - 1.5 - - 1.5{m2
A T 1.3 1.2 0.1 - - 2.6|m3
H i 1.3 1.2 0.1 - - 2.6|m3
AsEliZE TUREIR) | FAEBRLEAS]3 t=3cm 4.0 3.2 - - - 7.2(m2
AsEliZE TURIEIH) [FFAMKLEAS20 t=4cm - - - - - ~|m2
N M L - - 1.5 - - 1.5|m2
AsEliZE T.ORIEIR) M AR As20F t=4cm - - 1.5 - - 1.5|m2
MASHLAL )Y B 0.2 0.2 0.2 - - 0.6t
S CoBfL ALy - - - - 10.6 10.6]t

L)



P DR KA

Re

BIH

DCIP(T),DCIP(GX) (No, )
¢ 10011 %= +T1-2 L= 4.0 m
f_mf”) # A fE WA
+ T
AsHlir
t=15cmPA F  |#EH] (4.0+4.0) 8.0 m
AsEEERRITUEL
t=10cmLA F  |HEHI (1.0%4.0) 4.0 m2
AsHiLiERK
BERRAE IH (1.0%4.0%0.03) 0.1 m3
P HI
BH0.28 1.0%1.39%4 5.6 m3
PR (W)
BH0.28 (1.0%0.42 — 0.12°2%3.14/4%2) * 4 1.6 m3
HRGEAET)
BH0.28 1.0%0.97%4 3.9 m3
T & A (RC-40)
- - m2
g AR (M-25)
- - m2
FEAE AL
5.6-(3.9/0.9) 1.3 m3
HEHh
5.6-(3.9/0.9) 1.3 m3
AsEli%E T(R 1 1H)
BRI As13 t=3cm| 1.0%4 4.0 m2
ARpEFEIE
LA L - _ m2
AsEli%E TORE 1H)
FEBRTIE As20F t=4cm|— - m2
AsBRAL
0.1%2.35 0.2 t




& S0A (No, )
SOAFLZ +T2-2 L= 54 m
f_mf”) # A fE WA
+ T
AsHlir
t=15cmPA F  |HEHI(5.4+5.4) 10.8 m
AsEEERRITUEL
t=10cmLA F  |#EH] (0.6%5.4) 3.2 m2
AsHiLiERK
BER% (0.6%5.4%0.03) 0.1 m3
P HI
BH0.28 0.6%0.36%5.4 1.2 m3
PR (W)
BH0.28 - - m3
HRGEAET)
BH0.28 0.6%0.36%5.4 1.2 m3
T & A (RC-40)
=200 - - m2
g AR (M-25)
t=100(120) |- - m2
FEAE AL
1.2 1.2 m3
HEHh
1.2 1.2 m3
AsEli%E T(R 1 1H)
B RLEAs13 t=3cm|0.6%5.4 3.2 m2
ARpEFEIE
LA L - - m2
AsEli%E TORE 1H)
FAEBRTE As20F t=5cm|— - m2
AsBRAL
0.1%2.35 0.2 t




& S0A (No, )
SOAFLZ +T3-2 L= 2.5 m
f_mf”) # A fE WA

+ T

AsHlir
t=15cmPA F  |#EHI(2.5+2.5) 5.0 m

AsEEERRITUEL
t=10cmPA F  |#EH] (0.6%2.5) 1.5 m2

AsHiLiERK

BER% (0.6%2.5%0.04) 0.1 m3

P HI
BHO0.28 0.6%0.35%2.5 0.5 m3

PR (W)

BH0.28 - - m3

HRGEAET)

BHO0.28 0.6%0.25%2.5 0.4 m3

T & A (RC-40)

=200 - - m2
g AR (M-25)
t=100 0.6%2.5 1.5 m2
FEAE AL
0.5-(0.4%*0.9) 0.1 m3
HEHh
0.5-(0.4%*0.9) 0.1 m3

AsEli%E T(R 1 1H)

FEEHERIEEAS20 t=dcm|— B m2

ARpEFEIE

LA L 0.6%2.5 15 2

AsEli%E TORE 1H)

BRI As20F t=4em|(0.6%2.5 1.5 m2

AsBRAL

0.1%2.35 0.2 t




& 80A (No, )
SOAFLZ +T4-2 L= 16.6 m
A 5 A | mo® |

+ T

Astlr
t=15cmPA |- - m

AsEZEERRUTUEL
t=10cmA |- - m2

AsHiL

- - m3

]l

BHO0.28 0.6%0.39%16.6 3.9 m3

PR (W)

BHO0.28 - - m3

HRGEA 1)

BHO0.28 0.6%0.39%16.6 3.9 m3

T & 1% (RC-40)

=200 - - m3
FJE kAR (M-25)
t=100 - - m2
A AL
- - m3
e
- - m3

AsEizE T.(RIE IH)

FREHERIEEAST3 t=3cm|— B m2

RN

shbtml | ; -

AsEii#E T.(R1EH)

AR As20F t=4cm|— - m2

SKAsHLALS > E

_ - t




B A AT R T

2

(No, )
IERFEIE IR ECo it i - T L m
f_mf”) # A | ow B | e
+ T
Co ]t
_ - m
S EUEL
MERH Co Bk ((1.4%2.0%0.8)%2) 4.5 m3
CoBfLiEM
((1.4%2.0%0.8)%2) 4.5 m3
I
BHO0.28 - m3
PR (RY)
BHO0.28 - - m3
HRGEAET)
BHO0.28 2.4%2.4%0.1 0.6 m3
T & 1% (RC-40)
=200 - - m3
& AR (M-25)
t=100 - - m2
A PR
_ - m3
HEHh
_ - m3
Ashiids T.(RE 1H)
FREHERIEEAST3 t=3cm|— B m2
NS
Sk - _ m2
AsHligE T.ORTEH)
PRI As20F t=4cm|— _ m2
S Col Ly 2
4.5%2.35 10.6 t




